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21. He was surprised ................. me sitting behind his desk.
1) saw 2) see 3) to see 4) seeing
22. The story was ........c..c...... and the children were disappointed.
1) being bored 2) boring 3) been boring 4) bored
23. Yesterday he boughta .................. shirt which was very nice.
1) white Chinese large 2) Chinese white large
3) large white Chinese 4) Chinese large white
24. A new motorcycle .................. for Reza for his recent success in the exam.
1) bought 2) was bought 3) has bought 4) has been bought
25. The traditional British wedding .................. takes place in a church.
1) ceremony 2) performance 3) pleasure 4) marriage

The sudden increase in mobile phone use has made some health professionals worried. Some doctors are

......... (26)......... that in the future ..........(27)........ people may suffer health problems from the use of mobile phones.
In England, there has been a ........ (28).......... discussion on this ........ (29).......... . Mobile phone companies are
worried about the ......... (30)......... publicity of such ideas.

26. 1) proud 2) concerned 3) excited 4) surprised

27. 1) many 2) few 3) little 4) much

28. 1) smooth 2) serious 3) private 4) famous

29. 1) negative 2) effective 3) positive 4) addictive

30. 1) object 2) type 3) task 4) issue

The Eskimos' way of life has changed much over the past hundred years, although many traditional customs do
persist. And despite the geographical separation between different Eskimo groups, all Eskimo have preserved a similar
culture. They are still mainly coastal people who journey inland in the short summers to hunt caribou and birds, and to
fish. The major exceptions are some North Alaskan Eskimos and the caribou Eskimos, who live inland all the year
round. The North Alaskan Eskimos are famous for hunting the enormous bowhead whale, weighing 54 tonnes (60 US
tons). Elsewhere on the coast, Eskimos hunt seals, walruses, and smaller whales such as the white whale. Fishing for
cod is popular among the Eskimos in Greenland and Labrador.

31. The word "'exceptions' in line 5 refers to .................
1) the animals some Eskimos hunt for food 2) geographical locations
3) two groups of Eskimos 4) the ways some Eskimo groups get their food

32. Which of the following animals cannot be necessarily found in or near bodies of water?

1) Cod 2) Walruses 3) Seals 4) Caribou

33. It can be reasonably concluded from the passage that some Eskimos hunt the bowhead whale .................. .
1) to show their hunting ability 2) out of need

3) for fun 4) to sell its meat to the U.S

34. Itistruethat .................. .

1) all Eskimo groups are coastal people

2) Eskimos do not live in the same way as they did two centuries ago
3) Eskimos have few traditional customs to be proud of

4) all Eskimos' traditional customs are lost

35. What is the passage mainly about?
1) Some common features among Eskimos 2) Eskimos' hunting skills
3) Why Eskimos live near oceans 4) How old Eskimos' customs are
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